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Predicting equation R? F value***
LBM =-1310.952 + 0.418 W* +35.353 L** + 0.763 TOBEC 0.983 894.8
Moisture =-1051.417 + 0.284 W + 28.598 L + 0.710 TOBEC 0.981 731.6
Protein = -132.426 + 0.146 W + 3.469 L + 0.0780 TOBEC 0.984 881.5
Lipid = 1310.960 + 0.582 W - 35.353 L - 0.763 TOBEC 0.784 50.9
Ash =-35.920 + 0.006 W + 0.803 L + 0.005 TOBEC 0.941 225.5
*W = body weight **L = fork length **% F (0.95; 3,45)=2.82
2 RSk B BENEREAE S THERE
Predicted equation
Moisture (g) =-1051.417 + 0.284 Weight + 28.598 Length + 0.710 TOBEC
Lipid (g) = 1310.960 + 0.582 Weight - 35.353 Length - 0.763 TOBEC
Moisture (%) = Moisture (g) / Weight (g) * 100 Lipid (%) = Lipid (g) / Weight (g) % 100
i Moist % Lipid (%
Weight Length TOBEC oisture (%) . ipid (%) .
(8 (cm) tested predicted tested predicted
5510 74 1330.6 66.8 67.9 134 11.9
6610 78 1836.7 69.0 68.3 10.9 11.8
7370 77 2061.6 66.4 65.6 14.8 15.1
7140 80 1814.8 67.5 66.2 12.7 14.1
5520 76 1420.6 71.3 70.2 8.4 9.3
5300 73 1321.6 69.9 68.6 9.9 11.1
Results of analyses
Mean -0.658 0.540
SE 0.175 0.280
SD 0.884 1.057
t 1.824 -1.251
p value 0.128 0.266
3 EEEAEEK Y RN & R EHE kTG E P T ERE
Predicted equation
Moisture (g) = 0.636 Weight + 248.350
Moisture (g) / Weight (g) x100 = Moisture (%)
Lipid (%) = —1.172 x Moisture (%) + 91.836
Weight Moisture (%) Lipid (%)
(8) tested predicted tested predicted
5510 66.8 68.5 13.4 11.7
6610 69.0 67.8 10.9 12.5
7370 66.4 67.4 14.8 13.0
7140 67.5 67.5 12.7 12.9
5520 71.3 68.5 8.4 11.7
5300 69.9 68.7 9.9 11.5
Results of analyses
Mean -0.392 0.540
SE 0.672 1.067
SD 1.651 2.043
t 0.581 -0.648
p value 0.587 0.546
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